EARAROBEEIERT — 2 N— IBISH —F

20195108108 (k) 11EI%#A3H

M st ER s SN ETheE2H C8 HoHR—R (xwlw | lmEmml - |5 @) o 8
[A&4£] 1 % :200,000 @ ~ 23&:46,000 @ ~ 3#:20,000 1 ~ 437&:14,000F ~ 5 & :10,000 M
B ®RBE mEBR Mk HE BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N NEEE e~ 46 é%i%%’& 1:30.4 7-71-7-4 | 381 — 4 434 iﬂﬁg%ﬁm
LT TRy b Bivw=LT7UIL = © SRS
2[1[1|7M1IRE=+H Ho4 | s (12310/29) 6555 (89.2| — | 2 | 431 Eggg (&712)
RV TFTIAL R BIAIINTH > (-3) HER BX
H s EEREER # 5 guéﬁ& 1:31.0 8-8-8-7 [38.9| — | 5 | 417 ng%i (%:42)
N . e _ 2
Qg FAETL B IAUFrL e 2 |\4arr—n
405|5|/NTT7IR* # o4 ?é’%iﬁi 1:(331).7 10-9-10-9 [ 39.0| — | 3 | 477 ggg%@ (%142)
RiF4—TALNT bk BibLJ b7 b O | s
1 > BEEEINID fo4 | KEER 1:(311).9 2-3-3-3 [40.4| — | 6 | 485 gﬁgﬁ &2
R:/GrYXN B:yO71—FK (+4) J—=HrTp—L
6lzlg| A%y o4 ;ﬁ;%ﬁ/% 1;(322).3 5-6-6-8 | 40.6| — 1 530 ‘E(g)ﬂ% ﬁg*ﬂ)
RERLTHANAN B AOYAOT 1 A e
718l10| E—7 # 5 g’zﬁm‘l?& 1(73%:;1 9-10-9-10 |30.9| — | 10 | 449 E%%Ffjgf;‘)?
QVLKUSURIR B AAFTLAR @) | 4asr—n
8 3| A—F12 # 5 gﬂ?’ﬁz (/ggf;t 32211 |41.3| — | 9 | 424 ﬁ%g)ﬂf _(gf)}v
QLS eY I EuE BiAO—47 ™)\ xm 2r
9l8l9 Ja—#32 4 6 573*_%06?*51 1(:33/;4.)5 1-1-1-1 | 41.5| — 8 469 ﬁ%ﬁgé/(%g&)wya)
RiFaTLEN BT/ EhTF L @) 1 ya-55-4
wolzl 7| ®¥7737 # 5 Eﬁﬁﬂ\ 1(:13/22.)6 4436 |41.3| — | 7 | 527 EEE% (%13)
R:o07% Bk INNTH 2 | pm B
® 1 — @B
1T=7r= 9,2,3,7,8,1,4,6,10,5
23—7— [9.3,2,7,1,8,4,6,5,10
Ja=5= 9,3,(2,7),1,8,4,6,10,5
41—F— 3,9),2,4,1,7,6,8,5,10
[ /N
BB 4 1,000 | | 74 K 1-4 360/ | | # = 1-4 1,440/ | | 3E4E 1-4-6 4,490/
B B 4 140M 4-6 670M B = 1-4 1,680 JEE 4-1-6 19,410
1 210M 1-6 1,150/ | | /5 & 4-1 2,370M
6 330F

ABICOVWTRDTEEERROODE. TR LIV,




